A-AMTE S=1/10

7 —7 L —2A « AS345 X v RV i T [¥]

7 ) —7 L — AN S=1/10

300

1

O\

Jeui¥ v v 7 D22

==

58.5

o (KD
1

D13 L=500

(FM3004 A =)

VA

300

o D13
= |~ D13
N
O/ ') u
A A 300
JEBHIX S=1/100
300 1700 300 1700 300 1700 300
F7 v — EA Rk R mE
D19 1=800 \| |‘| ‘ / FM300
] A | |
_T | ____E d £ o
N - —0-—o- — o —To o
== [ ~
[ 1
=] \ ta {2t | S
= ‘ ‘ ‘ S
= | 1. .
\ | __ |k N o
— e -—-——-—0— P ——o—0 LR ;I 0 0 . I (=]
! I 1"
S ‘ ‘ ‘ S
N | 1. -
| \

A LR s=1/5

ASA v F=a~J v b D22N

(VAR » X HDZT 49)

%]

56

N

35
54

A XA e 4

(PARTRSA D » = HDZT 77)

]

150

150

AS2ONA v X1 v FF—1
(WSERSN D > X% HDZT 77)

639

,70 U
110

A XY vy —
(VSERASN D > X HDZT 49)

639

K-12~—4—D22-65 (B4 A » )

~L¥ ¥ 7BC

(TgR oD o X ERAR)

&,
&

PR A L

SRR S=1/10

JV—=TL—A

Bigitt

~JL %y v FBC

ASAyFa~v) vy b

(PARTESA D » = HDZT 49)

Ay XYY vy —

(SERASN D > X HDZT 49)
A S R 4

(ETRSN D - X HDZT 77)

e =
HEE (P4 Y)
G| ok HAL | HoE LT
AR VN F300(2, 0002, 000) | m
AS345 ARk D22N m TRRER D > X HDZT 77
Sl v v D22 1 1
ASA v ¥ vy b D22N 18l 1 TARIERD > X HDZT 49
AS22NAYX T » 75 —7 | D22N 1 ERllighe > & HDZT 77
KA~ —4— D22-65 i ‘f‘;f{x[):iz 5m THRAE2 T
A XA G 150X 1509 ($45) | # 1 RREHEN D - & HDZT 77
Ay FRLY vy — ¢ 74.5X25 1 U | vamEgn > & HDZT 49
ULy v TBC ¢ 100X 150 1 1| ~v=—h360g Ay
YL — A 645X 200 " 1
)Ly — A
$32 200
¢ 45

KL a— 1360 g AV

/

V.

7 B TEAA R A

(WEARSN D > X HDZT 77)
AS2ONA v X1 v FF—1

R

7Y=7V=h
AS345 % v % 7H)L I+ D22N

REWE | Ty b | Vovy—|{hyTT—| Frv7
HoX |[AvFav|AvFL| AvF BC

PR AL




